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M IIRINZENSES 131,335 120,271 11,064
OJi1z & SSE2Il UHRFAL 212
85,8002 6 »26 & 2N = 26,786
OAlUel X9 Jt2= HollSYH 22
85,8502 6262 7 E 93,749
OJIZtM22 Xt AHEE= 10,800
201 er23 | 16,000 14,325 1,675
01 At2teltl 2,000 1,750 250
OdaseH =37 (=20l S) 500
OgNel: HNES FL
250,000& +6 1,500
2 Ss52g4l 14,000 12,575 1,425
OgoisgM AE 8 ol=I] SABI(FLR) 7,000
OSSN Haxed 37 ¢ 7,000
206 M=l 29,000 28,680 320
01 MZH| 29,000 28,680 320
Ot & Ot2stt EallE 2M A2 Y 20,000
Oz HolE LIRFA &M 2 7,000
OJt2= & It25t dollEs 2EMAH S
N+ (DXE S) 2,000
401 Al HIZL 201 66,000 50,000 16,000
01 Al&HI 66,000 50,000 16,000
OdtLtz Itz S22l ol LERFA 30,000
=REZ(GUZ, WH=Z S)It=2= X4
SN 30,000
Oll=8=u1e S s2ois ANSH 6,000
Aoty dels= 200,000 200,000 0
s 100,000
Al 100,000
401 Al HIZ 2018 200,000 200,000 0
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=M A0

T SMEACAEY
&el: TAEsS &4 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
s 100,000
Al 100,000
01 A=l 200,000 200,000 0
OXtA ety Ol A (1) 200,000
= 100,000
Al 100,000
STAHE & x4 3,122,000 1,897,000 1,225,000
SHECIZEE A 1,740,000 0 1,740,000
401 AIEHIZL 2 OHYI 1,740,000 0 1,740,000
01 AlZHI 1,740,000 0 1,740,000
O3& S3AIE HEAS 560,000
OZd LE:AI4 HUlAtY 500,000
OZAIZSE e|22E At 150,000
OZAISE HEAAE HEAS 30,000
OtidtE2Eaad &HEZ LAY 500,000
ESEE TEAY 195,000 195,000
401 AIEHIZ SR 0HYI 195,000 195,000
01 A&l 195,000 195,000
OZs3& EXHLLl & 195,000
et HARX SEZLEA 585,000 1,452,000 867,000
201 L2 235,000 252,000 217,000
01 AtR2telbl 235,000 252,000 A17,000
O=RMt AEE S 235,000
401 AlEHIZ 201 350,000 1,200,000 850,000
01 AlZHI 350,000 1,198,000 848,000
CISIBE~FLA AMMZ ZHAIS 350,000
SEXEHEZE 602,000 250,000 352,000
201 Zet2& ] 2,000 0 2,000
01 AtR2telbl 2,000 0 2,000
OZ&=X JI=2H 820t U2 2,000
401 Al HIZL 01| 600,000 250,000 350,000
01 A=l 600,000 250,000 350,000
OHE3d B3 dXAY 300,000
OFELZE =dAlZE FHIAME 300,000
FII0IEH SAISH =4 2,900,000 2,830,000 70,000
SEEILEAE 2,900,000 2,830,000 70,000
201 =3 300,000 230,000 70,000
01 AFS2t2ltl 300,000 230,000 70,000
Otf&tES3d 2EXALE HAZ S 300,000
401 Al HIZL 201 2,600,000 2,600,000
01 Al&H| 2,600,000 2,600,000
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